I. Fallacies:  

a. A fallacy is a defect in an argument that consists in something other than merely false premises. 

b. Both deductive an inductive arguments can contain fallacies.

c. A fallacy usually involves a mistake of reasoning, or something that makes a bad argument appear good. 

d. If an argument is unsound or uncogent, it has one or more false premises or it contains a fallacy or both.

e. There are two types of fallacies: 

i. Formal fallicies

1. a formal fallacy is one in which the form or structure of the argument is flawed. 

2. These fallacies are found only in deductive arguments.

Example: 

If it rains, the street is wet.
The street is wet.

Therefore, it is raining.

ii. Informal fallacies

1. Fallacies that can only be identified by examining the content of the argument

2. informal fallacies can come in many forms. 

a. appeal to emotions conjoined with an invalid argument

b. irrational inferences.

c. There is really no one way to judge whether an argument contains an informal fallacy or not. You just have to read the argument and determine if it is or is not representative of a fallacious argument.

3. Fallacies of relevance: The arguments in which fallacies of relevance occur have premises that are logically irrelevant to the conclusion. However, it may be the case that the premises are psychologically relevant such that it may appear that the conclusion follows from the premises. 

a. Appeal to force: (argumentum ad baculum: appeal to the “stick”) (scare tactics
)
i. This type of fallacy occurs whenever an arguer poses a conclusion to another person and tells that person either implicitly or explicitly that some harm will come to if the conclusion is not accepted.

ii. Examples: See addendums A and B
b. Appeal to pity (Argumentum ad Misericordiam)

i. This fallacy occurs when an argument attempts to support a conclusion by merely evoking pity from the reader of listener.

ii. The point of eliciting pity in an Argumentum ad Misericordiam is not to add to the logic of the argument but to appeal to the psychological aspect of the reader. The pity does not lend itself to the logic.

iii. It should be noted that in some arguments, pity may indeed be warranted. However, in Argumentum ad Misericordiam, the arguer is trying to elicit pity rather than present well-thought out arguments. 

iv. Example: Grandmother says, “I am just a frail, old lady who nobody loves. All my friends are dead or dying, and when I die, nobody will care. And even you only come to see me once a week!

c. Appeal to the People (Argumentum ad Populum

i. in an appeal to the people, the arguer uses the natural desires to be loved, esteemed, admired, valued, recognized, and accepted by others to get the reader or listener to accept a conclusion.

1. direct approach: This occurs when an arguer, addressing a large group of people, excites the emotions and enthusiasm of the crowd to win acceptance for the conclusion. This is the approach propagandists take.

Example: “If, however, Germany is to experience this political and economic revival and conscientiously fulfill her duties toward the other nations, one decisive step is absolutely necessary first: the overcoming of the destroying menace of communism in Germany. We of this Government feel responsible for the restoration of orderly life in the nation and for the final elimination of class madness and class struggle. We recognize no classes, we see only the German people, millions of peasants, bourgeois, and workers who will either overcome together the difficulties of these times or be overcome by them. We are firmly resolved and we have taken our oath. Since the present Reichstag is incapable of lending support to this work, we ask the German people whom we represent to perform the task themselves.”

2. indirect approach: The arguer aims the appeal not at the crowd as a whole but at one or more individuals separately, focusing on some aspect of their relationship to the crowd.

a. Bandwagon arguments
: This is the idea that you will be left behind or left out of the group if you do not use the product - the “everyone’s doing it” argument

b. Appeal to vanity: Associates the product with someone who is admired, pursued, or imitated and gives the impression that you too will be admired, pursued, or imitated if you accept the conclusion. See Addendums C and D.
c. Appeal to snobbery: an argument that implies that a desirable sort of person accepts the proposed conclusion

d. Argument against the person (argumentum ad hominem)

i. The argument is advanced attacking another person rather than that person’s arguments

ii. This type of argument is advanced to discredit the other person, not to show inconsistencies in the arguments of another.

iii. There are three main types of arguments here

1. ad hominem abusive: The attack is directly against another person in an abusive way.

2. ad hominem circumstantial (attacking the motive
): This type of fallacy directs the attack not at the person directly but at the circumstances surrounding the person. 

The accuser in the Michael Jackson trial is just making these accusations so that his mom can collect millions of dollars from Jackson. 

3. Tu Quoque (“look who’s talking
): With this fallacy, the arguer tries to discredit his opponent by claiming that he is hypocritical or arguing in bad faith. 







Two examples: 

Why should we believe that the President is telling us the truth? He smoked Marijuana in the 70’s!

Why should we believe that the President is telling us the truth? He got pulled over for drunk driving in the 70’s







Example of a good argument: 

Benjamin told us that he will finish his homework after he plays his drums. But this is what he says every day, and he never gets around to his homework, so why should we believe him today?

e. Two Wrongs Make a Right
: Committed when the arguer attempts to justify a wrongful act by claiming that some other act is just as bad or worse. 
Mother: Why did you steal that shirt from the store? 

Son: Mom, you act like I killed someone!
Why is it a big deal if I cheat on my taxes? Everyone does it, and most people make more money than I do so the government has more to loose from them!

f. Accident: This fallacy is committed when a general rule is applied to a specific case that it was not meant to cover. Usually, the general rule is laid out in the premises and then applied in the conclusion. 

Example: We know that it is forbidden to be drunkards. Therefore, we should never let liquor pass our lips.

g. Straw man:
 This fallacy is committed when an arguer distorts an opponent’s argument for the purpose of more easily attacking it, demolishes the distorted argument, and then concludes that the opponent’s real argument has been demolished. 

i. The reason this is called a “straw man” is that the arguer sets up a straw man (the distorted argument) knocks it down, and then claims to have knocked down the real man (the original argument)

ii. When a straw man argument is used, we usually call it “twisting Words”  

Example: They propose that children and adults be educated in their ideologies, and through the thirties expression "social and mental hygiene" and the seventies expression "altering the course of human evolution and cultural development" they hint at much more. "Social hygiene" and "altering the course of human evolution," of course, mean eugenics; "mental hygiene" and "altering the course of human cultural development," indoctrination.

h. Missing the Point (Ignoratio Elenchi – ignorance of proof): This fallacy is committed when the premises of an argument support one particular conclusion, but then a different conclusion, often vaguely related to the correct conclusion, is drawn.  

Example: Many non-organic dairy producers have used hormones in the production of their products that may have detrimental effects on humans. We should therefore stop eating protein altogether.

i. Red Herring:
 Committed when the arguer diverts the attention of the reader or listener by changing the subject to a different, but sometimes subtly related one. The arguer then draws a conclusion about this different issue, or he presumes that some conclusion has been established. He therefore purports to have won the argument. 

Many groups have argued that foods not USDA certified organic are harmful to humans. However, there are many things that are harmful to humans. Driving down the road is harmful to humans in so many ways. People should just be more careful about what they do and take care that they don’t hurt others as they go about their daily lives. 

4. Fallacies of weak induction (Insufficient Evidence
): These fallacies occur when the connection between the premises and conclusion are not strong enough to support the conclusion. Often involve emotional grounds for believing the conclusion.
a. appeal to unqualified authority

i. This is the type of fallacy that occurs when an arguer appeals to an authority, but that authority either lacks credibility or does not have the type of authority necessary to support the appeal. 

1. lack expertise

2. may have a motivation to lie

3. bias or prejudice 

4. unable to act as an authority

ii. we see this in little kids: One child says to another, “The tooth fairy comes and gives me money for my teeth. My mom said so.” We also see this in the news quite often, but in a more subtle way when a well-respected news anchor or talk show host reports on an issue and is believed by the public to have the necessary qualifications to speak knowledgably on the subject. This also happens in the bioethics community when a bioethicist makes a claim that is not supported scientifically when that claim endorses his bias. 

b. Appeal to ignorance

i. An appeal to ignorance fallacy is committed when there is equal amounts of proof to support two conflicting conclusions, or inadequate support for either of two conflicting conclusions, and the arguer makes a claim as to which conclusion is correct. 

ii. We have been researching the possibility of alien life for at least 100 years and there has been no conclusive evidence yet. Therefore, we can conclude that aliens don’t exist.

iii. We have been researching the possibility of alien life for at least 100 years and there has been no conclusive evidence yet. Therefore, we can conclude that aliens exist.

c. Hasty Generalizations

i. When a conclusion is drawn about the whole group upon the evidence of only a small sample. 

1. My mom’s father was a violent alcoholic, and my sister’s husband was a drunk. Men are just a bunch of jerks!

2.  Aleasha cries when her boyfriend calls her five minutes late. Jaimie gets angry when her husband forgets her favorite kind of ice cream. Women are needy and a pain in the neck!

3. My brother’s friend Nick is on drugs and his girlfriend is also on drugs. Teens today are just a bunch of pot heads. 

d. False cause fallacies (questionable cause
): There are at least three forms of  this fallacy

i. This fallacy occurs when the link between the premises and conclusion depends on some causal connection that does not exist, or is likely not to exist. There is a claim that x causes y when x likely does not cause y

ii. Benjamin says that whenever he runs the mile in PE, his teacher gives him a bad grade. Therefore, to get a good grade, he should not run the mile any more. (This is called a post hoc ergo hoc (mere correlation fallacy
)false cause fallacy: In this type of fallacy, the assumption is made that a preceding event caused another event just because that event preceded it.)

iii. Whenever Emily wears her lucky earrings, she gets a good grade on the exam. Therefore, Emily should always wear her lucky earrings so that she can get a good grade on her exams. 

iv. Millionaires live in large houses and wear very expensive clothes. Therefore, the best way for Monica to become a millionaire is to live in a large house and wear expensive clothes.  (non causa pro cause : This type of fallacy occurs when the mistake is in temporal succession or the direction of the cause.)

v. Note: sometimes two events appear not to be causal, but they really are. Whenever Ericha wears her red and black bead necklace and bracelet, she becomes dizzy and sick. She should therefore not wear her red and black beaded necklace and bracelet. 

vi. Sometimes, the false cause fallacy comes in the form of an oversimplified cause
. This occurs when there are many causes for an event, but the arguer selects just one as the cause. “Cancer is one of the leading killers in the United States today. Obviously we need to educate people of the lethality of non-organic foods. Also, see Addendum E
e. Slippery Slope fallacy
: This fallacy occurs when it is alleged that an event will cause a chain reaction of events when there is not enough good reason to believe that such a chain reaction will occur.

i. If your child watches television on a regular basis, he will surely be influenced by what he sees and end up in prison for violent crimes. 

ii. If we don’t put aside money for retirement this month, we will never put aside money and we will die impoverished!

f. Weak Analogy

i. This type of fallacy is one committed when the argument depends on the existence of an analogy, but the analogy is not strong enough to support the conclusion.

ii. The Amazon rain forest has many species of animals, is rich in human history, has many uncharted places, and receives over 70 inches of rainfall each year. The Mojave Desert also has many species of animals, is rich in human history, has many uncharted places, and it therefore must receive over 70 inches of rainfall each year. 

iii. Benjamin grew up in a family with five children, Kurt and Josie were his parents, he had music lessons since he was 5, he has his own bedroom, and he is an excellent dancer. Cody also grew up in a family with five children, Kurt and Josie were his parents, he had music lessons since he was 5, and he has his own bedroom. Cody must also be an excellent dancer!

g. Inconsistency
: Occurs when an arguer asserts inconsistent or contradictory claims. Example: There are absolutely no absolute truths!

5. Fallacies of presumption: The premises presume what they set out to prove.

a. Begging the question
: 

i. The arguer creates the illusion that inadequate premises provide adequate support for the conclusion by leaving out a key premise, by restating the conclusion as a premise, or by reasoning in a circle. There are several ways that one can beg the question: 

1. The arguer can leave out a key premise while creating the illusion that nothing more is needed.

a.  “Eating enough orange vegetables will significantly improve your eyesight. It follows, then, that people with Glaucoma need only eat enough vegetables and they will be cured.” If we ask the question “How do you know that people with Glaucoma need only eat enough vegetables and they will be cured?” we will be begging the question by circular reasoning. 

b. Good parents let their kids spend the night at the hotel after the prom, so I should be allowed to sleep at the hotel after the prom.

2. The premise of an argument merely restates the conclusion in slightly different language.

a. People who are vegan like to eat a lot of fruits and vegetables because if they didn’t like eating fruits and vegetables, they would not be vegan. 

b. People who read a lot become more intelligent due to the fact that reading makes people smarter. 

3. Circular reasoning in a chain of inferences

4. Freesias are the most beautiful flowers in the world. This is true because they are fragrant and can have vibrant blooms. Because of this they attract admirers from all over the world.. And they obviously attract admirers from all over the world because they are the most beautiful flowers in the world. 

b. Complex questions (loaded questions
)
i. This is a fallacy which occurs when two or more questions are asked, and only one answer is given to cover all questions asked. 

ii. A certain condition is presumed in complex questions. 

1. Do you still drive that red car that you stole?

2. Where were you going with Jeff behind your boyfriend’s back? 

iii. Leading questions are different than complex questions in that they don’t involve a fallacy. There is truth with respect to both elements of the question. Example: When you sat in class yesterday did you take the quiz?
c. False Dichotomy (False Alternatives
)
i. Committed when a disjunctive premise presents two unlikely alternatives as if they were the only ones available, and the arguer then eliminates the undesirable alternative, leaving the desirable one as the conclusion. 

ii. When this fallacy is committed, the arguer falsely presents only two alternatives as the only two, and draws a conclusion based only on those two. Therefore, if one of the alternatives is true, it is not a false dichotomy.

iii. Examples:

1. Either you are a Republican, or you are a democrat. You are not a Republican, therefore, you must be a democrat.

2. Either you are a dog lover, or you hate animals, you are not a dog lover, so you hate animals

3. Either capital punishment is permissible, or it is wrong to murder. It is wrong to murder, so capital punishment is not permissible. 

d. Suppressed Evidence

i. When an arguer is using an inductive argument and fails to include evidence that would outweigh the presented evidence for the conclusion offered, the arguer is committing the fallacy of suppressed evidence. 

ii. Suppressed evidence can also come in the form of quoting or arguing out of context. 

iii. Examples

a. Most people are social and fun-loving. This should therefore be a fun party. (The arguer has failed to let us know that this is a group of KKK members.)

b. One sip of alcohol never hurt anyone, so I think it’s okay if I just have one small glass of wine. (the arguer has failed to let us know that he is a violent alcoholic.).

c. Advertised automobile prices: * All advertised prices exclude government fees and taxes, any finance charges, any dealer document preparation charge, and any emission testing charge. Prices shown do not include installation costs, taxes or license. MSRP excludes tax, license, registration and options. Stock picture displayed. Colors, options and trim levels may vary.  
6. Fallacies of Ambiguity: These fallacies arise because there is some ambiguity in either the premises or the conclusion

a. Equivocation

i. The conclusion of an argument depends on the fact that a word or phrase is used, either explicitly or implicitly, in two different senses in the argument. 

ii. This most often occurs when two words mean the same thing

iii. Examples: 

a. Make a right turn here. This turn is the right one, so turn here.

b. There is something fishy about the testimony the defendant gave. Fish swim in the water. Therefore, the defendant’s testimony swims in water.

c. The Buena Vista Social Club is a group of cool cats. Cats are feline animals. Therefore, the members of the Buena Vista Social Club are feline animals. 

b. Amphiboly

i. Amphiboly occurs when the arguer mis-interprets an ambiguous statement and then draws a conclusion based on this faulty interpretation.

ii. This usually happens when a statement can be interpreted in two distinct ways. 

iii. Examples: 

a. Speaker: We are going to throw a little water on the fun at this party. Arguer’s conclusion. We are going to put water into cups and throw it at people at the party

b. Newspaper headline: Quarter of a million Chinese live on water. Arguer’s conclusion: There are many Chinese who’s diet is composed strictly of water. 

c. Newspaper headline: NJ judge to rule on nude beach. Arguer’s conclusion: A judge is going to locate himself on a nude beach to meet out rulings. 

7. Fallacies of grammatical analogy: These fallacies are grammatically similar to other arguments that are good in all ways and are therefore taken also to be good in all ways. 

a. Composition: 

i. The conclusion of an argument depends on the erroneous transference of an attribute from the parts of something onto the whole. 

ii. This fallacy is best understood through examples: 

a. Mike likes hotdogs, and he also likes chocolate. Mike would therefore like hot dogs dipped in chocolate.

b. Each element in sugar is a calorie-free element. Therefore, sugar is a calorie-free food. 

c. Each of the ingredients in this Slurpie is found nature. Therefore, the Slurpie is an all-natural food. 

iii. Beware that there are arguments that are not fallacious that also transfer meaning from the parts to the whole.

a. Each rock in this wall is gray. Therefore, this is a gray rock wall.

b. Each tree in this forest is older than 500 years. Therefore, this is an old forest. 

b. Division

i. The conclusion of an argument depends on the erroneous transference of an attribute from a whole into its parts. 

ii. This is the opposite of the fallacy of composition

iii. Examples: 

a. National Geographic is an interesting magazine. Therefore, each article in National Geographic is an interesting article.

b. The Pope’s funeral is a Catholic funeral. Therefore, each person attending the funeral is a Catholic. 

c. This is a chocolate cake. Therefore, each part of the cake is chocolate.

iv. Like the fallacy of composition, there are statements and arguments that are not fallacious that transfer meaning from the whole to the parts. 

v. Examples: This is a retirement mobile home park. 

a. Therefore, each person living in this park is above the age of 55. 

b. This is a set of China dishes. Therefore, every dish in this set is made of porcelain.
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